@,

SERVICE MANUAL | 50Hz

ILFORD
MULTIGRADE

ENLARGER HEAD AND CONTROL SYSTEM
NCORPORATING MEMORY FACILITY. FOR
SMALL TO MEDIUM FORMAT ENLARGERS.

APPLICABLE FROM SERIAL NUMBERS 5H50001-ENLARGER HEAD, 5550001-POWER SUPPLY & 5C50001-CONTROL UNIT



ILFORD MULTIGRADE 500

CONTENTS

Approved abbreviations
Parts list

2 Electrical diagrams

-

C



ILFORD MULTIGRADE 500

AMENDMENT
RECORD
SHEET

Amendment Signature Date

Initial tssue November 1991

—

VWl | N | hAh|WwW|N

)

N

12

13

14

15

16
17

18
19

20

21

22

23
24




ILFORD MULTIGRADE 500

APPROVED

ABBREVIATIONS

The following is 2 list of abbreviations used in the
parts lists and circuit diagrams:

Word(s) in full

Abbreviation

as required
asgembly

control, temperature
countersunk head
developer

dismeter

figure

fixer

flexible hose
hexagonal head
inside diameter

left hand

light emitting diode
number

outgide diameter
overflow

pan head
potentiometer
printed circuit board
relay

replenishment

right hand

self tapping
shakeproof

stainless steel
switch

teeth

tempersature

terminal block

AR
assgy
CT

csk hd
dev

d

fig
fix
flex hose
hex hd
id

1h

LED
no.

od
oflow
phd
pot
PCB

RL
rep

rh
stap
sproof
88

1%

T

temp
TB

¢,

\

C

G.




ILFORD MULTIGRADE 500

1 PARTS
LIST

This section details all spare parts that are available
for the ILFORD MULTIGRADE 500 system.

Figure Description Page
1.1 MULTIGRADE 500H enlarger head 4
1.2 MULTIGRADE 500S power supply 8
1.3 General 12

When ordering spare parts, please quote the correct part
number in order that ILFORD Limited can process your
order as quickly and efficiently as possible.

3 Section 1



ILFORD MULTIGRADE 500

1L526A

Section 1

MULTIGRADE 500H enlarger head
Figure 1.1

N

")

(



ILFORD MULTIGRADE 500

1.1 MULTIGRADE 500H enlarger head

Ref no. Part no. Description Quantity
1 6068-P-025 Enlarger head, complete 1
2 6068-2-133 Fan cover 1
3 81335315 Cable 1
4 86618537 Plug, 10A (PLl) 1
5 83425602 Blanking plug 2
6 81334709 Strain relief bush 1
7 87992722 Screw, M3x6mm, phd 22
8 89730453 Washer, M3, plain 24
9 87992756 Screw, M4x30mm, phd 3
10 87991745 Screw, M3x5mm, stap 4
11 6068-1-175 Lamphouse 1
12 6068-2-1413 End cap, lh 1
13 89730454 Washer, M4, plain 3
14 86203904 Nut, M4 8
15 89730541 Washer, M4, spring 8
16 81334725 Clip, 5°5mm id 2
17 86203903 Nut, M3 18
18 89730575 Washer, M3, sproof 11
19 81334723 Clip, 10mm 1d 1
20 83883505 Grommet, A2313 2
21 87992724 Screw, M3x10mm, phd 3
22 87992726 Screw, Mixl6mm, phd 3
23 89013025 Terminal block, 2-way (TB2) 1
24 89014852 PTC thermistor (THI) 1
25 6162-4-107 Insulation plate, thermistor 1
26 87992755 Screw, M4x25mm, phd 1
27 85268401 Label, earth 1
28 83883504 Grommet, A453 1
29 6162-2-103 Fan tray 1
30 89013013 Terminal strip (TB1) 1
31 89730664 Washer, cup, no.4 6
32 83419205 Fan (FN1l) 1
33 B6204334 Nut, 8BA 2
34 89730709 Washer, 8BA 2
35 87998628 Micro-switch (SW1) 3
36 6162-4-108 Actuator, micro-switch 1
37 87993594 Screw, 8BAxll/g inch, csk hd 2
as 6162-4-105 Plate, micro-switch 1
39 6162-4-106 Insulator spacer 4
40 6068-4~-145 Tube retainer 2

>

Section 1



ILFORD MULTIGRADE 500

1.1 MULTIGRADE 500H enlarger head
Ref no. Part no. Pescription Quantity
41 89730665 Washer, cup, no.6 4
42 6068-3-174 Rod support 1
43 87990446 Screw, M4x5mm, csk hd 4
44 87990420 Screw, M3x6mm, csk hd 8
45 6068-4-134 Slide post 2
46 83425603 Ferrule, PVC 2
47 87992723 Screw, M3x8mm, phd 4
48 6162-3-101 Lamp slide, 1lh 1
49 81334726 'P' clip, 7+9mm id 2
50 81335652 Spiroband AR
51 89730540 Washer, M3, spring 2
52 6068-P-005 Lampholder assy 2
53 84677114 Lamp, 120V, 300w, ELH (LP1l, LP2) 2
54 86203902 Nut, M2<5 4
55 6068-1-115 Filter holder, 1lh 2
56 6068-2-114 Filter holder, rh 2
57 87992714 Screw, M2+5x6mm, phd 4
58 81339300 Flexible conduit, steel 2
59 83425803 Filter, heat 4
60 83425802 Filter, greenm, lh 1
61+ 83425801 Filter, blue, rh
62 6068-P-004 Door assy
63 6068-4-138 Label, warning
64 86204519 Nut, M4, nylon
65 87989070 Grub screw, M4x10mm, nylon
66 6162-4-104 Door button
67 89014402 Thermal cut-out (SW2)
68 6129~4~104 Roller catch, door
69 87997604 Spring pin, 12x2mm id
70 6068-3-153 Heat baffle
71 6068-3-126 Light trap 2
72 6068-1-142 End cap, rh 1
73 6162-3-102 Lamp slide, rh 1
74 6068-4-178 Label, serial number/rating 1
75 6068-4-162 Hinge pin, door 1
76 89730574 Washer, M2+5, sproof 4
T+ 88002001 Rifa suppressor (RS1) 1

+ items not illustrated.

Section 1

¢

NN FEFERNN -

"



ILFORD MULTIGRADE 500

Section 1



ILFORD MULTIGRADE 500

&

15254

Section 1

MULTIGRADE 500S power supply
Figure 1.2

rth

(



ILFORD MULTIGRADE 500

1.2 MULTIGRADE 5008 power supply

Ref no. Part mno. Description Quantity
1 6066-P-025 Power supply, complete 1
2 6161-P-005 Transformer assy 1
3 89730454 Wagher, M4, plain 10
4 89730576 Washer, M4, sproof 4
5 86203904 Rut, M4 15
6 6161-3-101 Terminal strip bracket 2
7 87992726 Screw, M3x16mm, phd 6
8 87990905 Screw, M4x1l0mm, csk hd 10
9 6066-1-151 Case, rear 1
10 6066-2-103 End cap, 1lh 1
11 89730541 Washer, M4, spring 11
12 83425601 Foot 4
13 87992725 Screw, M3xl12mm, phd 4
14 6066-1-150 Case, front 1
15 6161-4-102 Fuse bracket 1
16 86203903 Rut, M3 18
17 89730575 Washer, M3, sproof 20
18 87993537 Screw, M3x12mm, stap 3
19 86618535 Socket, 10A (SK2) 1
20 6161-3-117 Shroud, enlarger socket 1
21 87992728 Screw, M3x25mm, phd 6
22 86618514 Socket, 8-pin (SK3) 1
23 6161-4-121 Label, fuse 1
24 89014205 Transformer (T1) 1
25 83421231 Fuse holder 3
26 83421232 Fuse, 1A (F1l, F2, F3) 3
27 86618536 Outlet socket (SK&4) 1
28 87992732 Screw, M3x45mm, phd 2
29 6066-4-152 Label, serial number/rating 1
30 89013023 Terminal strip (TBl, TB2) 2
31 6066-4-158 Ingulator, socket 1
32 89730453 Washer, M3, plain 6
33 87998630 Rocker switch (SW1l) 1
34 6066-4-157 Insulator, PCB 1
35 83421212 Fuse, 4A 1
36 6161-P-004 PCB, relay (PCB2) 1
37 88000823 Spacer, 19mm 4
38 86618555 Socket, power inlet filter (SK1) 1
39+ B2956908 Rubber boot 1
40 87992722 Screw, M3x6mm, phd 2
t

Section 1



ILFORD MULTIGRADE 500

1.2 MULTIGRADE 5005 power supply
Ref no. Part no. Degcription Quantity
41 81334728 Clip, 7/y¢ inch 2
42 87990879 Screw, M3x12mm, csk hd 4
43 82956902 Insulatfon washer 2
44 82956901 Insulation bush 2
45 87992721 Screw, M3x5mm, phd 5
46 6161-P-003 PCB, power (PCBl) 1
47 6066-1-104 End cap, rh 1
48 85268401 Label, earth 4
49 6161-P-008 Voltage supply selector (SW2) 1
50 89730719 Washer, M5, plain 4

+ items not illustrated.

Section 1

10

("

[



ILFORD MULTIGRADE 500

11 Section 1



ILFORD MULTIGRADE 500

9

(*

LS6W

General

Figure 1.3

12

Section 1



ILFORD MULTIGRADE 500

1.3 Generzl

Ref no. Part no. Description Quantity
1 6065~P-050 MULTIGRADE 500CPM control unit 1
2 " 6067-P-001 MULTIGRADE 500P exposure probe 1
3 6115-P-001 MULTIGRADE 500F footswitch 1
4+ 6071-3-011 Maing lead kit, Euro 1
5+ 6071-P-012 Mains lead kit, UK (Euro type) 1
6+ 6071-P-013 Mains lead kit, free end (Euro

type) 1
7+ 6071-3-008 Extension lead, enlarger head

to power supply 1
8+ 6071-3-007 Extension lead, control unit to

power supply 1
+ items not illustrated. Note

Items 4, 5 and 6 comprise mains lead with
plugs, and a spare mains fuse.

13

Section 1



ILFORD KULTIGRADE 500

2  ELECTRICAL
DIAGRAMS _

The following electrical diagrams are supplied:
Figure Description Page
2.1 MULTIGRADE 500H enlarger head - circuit diagram

and component layout 15
2.2 MULTIGRADE 500S power supply - component layout 16
2.3 MULTIGRADE 5008 power supply - circuit diagram 17
2.4 MULTIGRADE 500CPM control unit - component layout 18
2.5 MULTIGRADE 500CPM control unit - circuit diagram 19
2.6 MULTIGRADE 500P exposure probe - circuit diagram

and component layout 20

Note

The circuit diagrams are shown in the de-energised gtate.

Section 2 14



ILFORD MULTIGRADE 500

PLY Wi RS1 1B Pt sw2 M P2 182
PLI 7 LM LF2
o708 [J3 O GN BL
= 1= 3| |}
181
—
QX
.
PLY ~
11 {2)
% swi '
| T
- S “To G)
! ] [}
I |
w l |
° t 1
1 ~.
54 ' ()
] 1
1 1
i i 182
! LLcs
" ; ® %
1 { RS1 T
! i M1
& : {8) {1 @
T H o [~
1 |
! I
- !
3 1
1 1
} |
* l
s 1 — 7

Sw2

Botes

TB2
G Component identification

; ™ML Fan
/\ ’\ LML ‘Creen' lamp (1h)
| | 1Pz ‘Blua' lemp (rh)
§ U PL1 Plug, emlarger head

W1 Bwitch, door inmterlock

SW2 Thermal cut-out

MULTIGRADE 500H enlarger head - circuit disgram and component layout
Figure 2.1 15 Section 2



-

ILFORD MULTIGRADE 500

.ﬁ

Ul
|
| (52 3 ~
° T
@
—{T}— »—[ED—-._H@_ PCR2
o) O
RLY RL2 Rn3
ol |8 |
[ PA ]
[ TQ [T(21 IC3 12 K1 I
T R T T T\PCB1
RN 3
K EI 2] [n_1|IE|
O [;]ms M a . O
T
E R |
IRy +
-— (%]
—{Fir}-

]

1%3A

Section 2

16

MULTIGRADE 500S power supply - component layout

Figure 2.2

e

¢



)

/'“"

ILFORD MULTIGRADE 500 : ;

SK& Swi Sw2 PCB1 T 1C2 11 PCB2 IC4 1C6 €5 I
SK1 SK3 TR2 TR1 1C3 TR&L TC1 T3 IC2 ! SK2
FL1 LA VDR1 VOR2 RL2 RL3 RL1
C3 c12 (W) c16 c10 C9 C1 c2 ;s 6 C15 C7C6 (8 C20
c1? i a3 81 D2 c21 D1
R9 R8 R1 R20 R? R6 . R15 R4 R16 R1? R10
R3 R18 RS R4
FB[I] Sw2
m taov- -[H0- (- - (H- -~ Fotes
zzov.__.D_D ______ [:H]_.. Component fdentification
......-| H'-_-_-l H |-...... LP1 Power indicator (on SW1)
20V 1 W/\B fl‘ o5 9 f,’ oF A _,L PCB1 Power
PCB2 Relay
Kb } €16, 10n Pce2 ’i-:_—:::_ﬂ‘::: pbekeledetd SK1 Mainas input socket
L?_' 17 ::T()n - PLA MES 1on N ES % 10n SK2 Enlarger head socket
NS LA it k i} SK3 Control unit socket
{ ] SK4 Safelight socket
E ———u . SW1 Power control switch
ﬁ [(1 @ 3 @ @ §) (3 9) 181 82 @ C‘D DRORORY 8 J I L+ SW2 Voltage selector
= - [l RLITT RL27T
| 120v j2v P2 ‘
i 100V o P '
N E_3v )
Ne qﬁun l$Pm 31[l¢
| . oV 3ie_.ov .
-\ swt RL 390K RY. gpe
K1 U1 120V J2v
L ‘ % N {5, 47 [m J:cv L
1 . <
N 3 RS 47K 0n |47
H 3
1 L
£ 1 : oV, 3 E__(nv
: ! PLA | 7A 6A 5A_|
1 T"'—"_.—_-..-_'\*,: ::::ﬁ)
{
SK3 ‘ t
1\
r
" |
60—
aL
L >— -
39—
%;::::::::_ mm’t"""J& ------------------------- 4“—-——-:::—-::::::5@::::::;1
1 L__——--9____—___——-—-_—__—----—-_--{1 ________ 1% 15
> @3 10 R1_10K | T PLY
PL1 i} —_—
2 | ! 30
¢ .
1110 : ”
¥ 81 A\JA L
Jll 6 . . 1C2 . 1%112 * KO *1;;’
AT 7805 7 ‘ ] RS L i
h - 12 470 | €11 2200 c10 4700 | €9, 2200 , 150R 150R ﬁ
[} r 1r L s .
jh 8 R2_68R ::
i 21302 als e ic6 h
i & g Lo o [0 T "
] 22 " 1000u [* < i
H il Pl ? Loy I
1l TR2 : 1
ol ) R3 66R i "
hH \5 —r t
I: 2TX302 R IC5 TC2 ::
h R9 . - AN 3020 7 ]
i 10K 10K i 1
:‘ 1A 41
1 > 1!
] l il
1] n
! : (14 4700 13 220n ) R18 1 21 R17 c20 ::
h S60R Tx»n S60R T1mn !
s Ic3 _ 2 1
- 7905 1340
| I
i | 1S

MULTIGRADE 500S power supply - circuit diagram
Figure 2.3 17

Section 2




ILFORD MULTIGRADE 500

DS? os2 0S3 Dst 133 0sé

I )

LK}

D8

o D4

D9

1

R

@ I~ hon|s— X X o
e ) =

ILx?

MULTIGRADE 500CPM control unit -~ component layout
Section 2 18 Figure 2.4



ILFORD MULTIGRADE 500 !
RN RS Rk R6 R3 R2 R1 R8 R8O R8I R17 R75 R?% RB R28 R18 R36 RSO RIL|R3? RIS R61 R16
R12 R82 R78 R7 R9 R} R76 Iy
R13 RV R77 R79 R22 R19 R R59 || RS0
a w0 a3 B s 6 Rf‘ RS8 a1 B! 07 on @
,{‘ ~ | sk 5 (10 02 02 7 us ; Re7 Bzo
U ) Sk2  Swi? 019 o6 SW19 Us 06 | DO Bi2
SK3  Sw18 g}g g}g ldg . DS1  SWi—=5W16 DS2 D21 ps3
U1 u2 u3 019 U3 UL w - oSt 0S5 ! 06
RED_10K .y [ HAN
sV 42V s v s R18_2K2 [ 5501 l Ré1 10K
(6, 220 RI9_2K2 /8327 (
‘ Notes
LM340-5 g 14 31] X1 =
Rit vie] [ I [ R =T R E ot ! 7 \ 718527 Component {dentif
R28 2K2 R ! P entification
”22K U2 u3 O JWKB 33 02 7 7 3™ 2 k3_ P70, ;D,;) ; 12 233 (B30 :—2A o ¢ 3_22 2A con cB_SQ_iB}(?—'_Z?_lA (oM DS1 LED display, units of 10
|J__i 6z PR 3 i_B3Z R27_2K2 1 R3g 22 R3g_210 seconds
GNB G-f‘ll? G N I é g;]) ;g F33 4] US 3833 1831 eI 1 155 B 158 851 i 158 DS2 LED display, seconds
= P34, 2 B3k
o Toon + L Tron "B 5 2 2%'6’% f] ;35 g2 R 2K213c BL2 R3é EKZ 13c BS2 ‘R39 gIQ Bl DS3 EEEO:;:play, units of tenth
:[ I o) P21 P25 'Lgsz +3Vo Z gg D;O- = g 6] . 83 Rz?_TgQJD —:Bl'a R33_22 Ll Bs3 RW_2K2 1 DS4 LED display, grade
T T -5v = = 9 F I N A ew, R32_22 o 052 R_210 ¢ D53 bS5 LED display,
P21 10 5_p33 = . B3t Sk e (B e Sl Losp B Sl ose DS6 LED display, memory
G . ; g‘; ’;'5* P37 1‘—LL B35 R23 22 3 3401 pis R31_ 212 3 3401 Bss Rz_22 3l 3401 :g g:obe socte:
10 = PIO__ 2 5 BALOy — ——— wer socke
R3I LOK R 4K ) U3 [8 L1 Lt o113 o B4l BY Bl RX_22 ) BSS R3_2 wl. SK3 Footswitch socket
3 s _ N ub = P L1 U6 [13 B42 ~ ~ SW1 Switch, units of +10 second
U'J_ -] B8 }% HD637 ,S,g AR = 3 5 ULN 2 B43 W—RZ?ZZKZJU; JQDp SW2 Switch, + seconds nee
i 5[ 2y 3] X0 g P ré g 2003 (1) 32‘* SW3 Switch, units of + tenth
T ou > 3 _' 8 47 P13 9 seconds
12VAC RES 6X8 M_ 2 1 =1 |7uc8s 19 L5 PiL _'_——5- = SW4 Switch, burn
. LM393 4 + ﬁ g’ = SW5 Switch, + grade
C \ RS 03 s 4 . o6 1 s Bis SW6 Switch, prints
LK7 - =1 |ouces 23] 521- P17 2 15 B SW7 Switch, memory
\ Zé 1= PLO. P03 14, B0 17 17 SW8 Switch, units of -10 seconds
R12 = 1] ) L0 PL P4 U7 [3_8S B30 R51 2K2 5 (OM 1 16 Bso | RO 2KQ of COM SW9 Switch, - seconds
“ R7_LH0K ) U13 3 :g] %g ] 2; ;Lg g un 2 ;ga R‘S’Z_j(’Z_‘A ‘ Rlsr—_ZJKZ—A SW10 Switch, units of - tenth
0K — = 7 L3 6 1 B31 15
L 7LC86 P38 ETRTTA T 2003 el —-Blp 2 15 Bl | TS 151 seconds
= RS3 2K2 SW1l Switch, focus
R9 20 el 29 %% 8 9 B32 13 3 1 Bs2 | Ri8 22 13, SW12 Switch, - grade
S PS5 31 3L PL7 = RS4 2K2 RLT 2K2 SW13 Switch, prints clear
T3, EEDWE, o , " B33 :ﬂ-ﬂ 4 13 853 n D SW14 Switch: memory clear
R13 P%s 2 c ggg —|B3% R3S 2K2 5 E DSk 5 0S5 12 BS, | R 2K o £ 0sé SW15 Switeh, expose-cancel bar
B ——
15K PL7 3 L R HOSP HLMP i HDSP SW16 Switch, expose-cancel bar
5754 us [ B B35 RS62K2 3. 3u00 6| 2685 [n1 BSS ! RS 22 3| 3401 SW17 VC switch
= = P2, O 2 B8] RS? 262 i SW18 Bleep switch
% P74 TN Ei) 3671 — LE T 7 10 [BS6 | Rk 22 1u) SW19 Program switch
> s 7 — e B e g b 10l
6) o 3 I
%2 «gg REE K2 o5V RS8 RS9
5 —d 2K2 2K2
7 —
e 83 ”Rw. RT3 I
15— b7k Lk 847
SK2 '
2 ﬁ,’;‘z 0-5V
g; o 0 12VAC
( s ke oV 13 13 13 13
: o] [ | |
! »—oLm - swit ][ SW10 { swi/ sw2
5 - R78_680R pg3, 2fs  2le 2fn 2l
55 A P83
: C9”10f1 P82 13
25 A2 P2 13 13 13
45 A3 Bl P8I | | |
C e TMBOS :
35 o8 ) \ S Swo { sw { swa/ w16
R77 GBR el ull 1Al
5 5P o6, meng B 2e | 2fu | 2]u | ofu
)
SW17 1 s D19 ;o INKILE D15, 4 INL1L8
2 D18 < ING148 o S Nt
poy NG AR os|| o09] , oOn
w1 o7y ) D17 1 ING1LE 013, INWT8 . 13 a3 1 1313 22 fz& V22
a - - w | | | | I
—o — 740922 swi3 { swn{ sws/ |swe {
1
) e 1‘3xcc i 2o | 2lu | 2Ju | 2] .
P6? p3 6 2 %
S0 o iy 7 ggg 8 Y2 13 1]3 1]3 1]3 | ¥
4 1T [ = =
{ >0 Y3
P——t pot R79 RE3 [ P 2oy vilt sw151/ sw.{ sw{ sws{ '
>— - 2 .
K 8 WK “ ars[ 13 35“ §1 ] 20 | 2fs | 2fe | 2]a 14 1
25 9 5,06 = = =
. —C 1 k——————w mx——qp——]
( " Op:_[ = oL
- i Y = = = 1L708

MULTIGRADE 500CPM control unit - circuit diagram

Figure 2.5

19

Section 2




ILFORD MULTIGRADE 500

PUI SW2 3 Ic2 Ic1
Swi 76 <8 s v, a G
02 ™I 02 201 o
RS RIS R20 R Rb R2 R _
R21 R22 RS RS R3
RS R8 —
R10 VRi
PL1 20 1R
v 1- s A
|
: SW2 l(g
: 10u
|
|
| oV
]
1
{
]
|
]
]
: R1_LM
|
|
| € 202
1 it
|
1 7.2
| RZ2 1K L 2 RZ K | 6 i1 x% o
0SC 3+ = 9 | Y N340 |3 o1
I [m9 B R,'h e PN
: 27K 220R LU 5?710
)
| Tel, & 7
! RS [1RS 5
i 8 L— -
TREF 2% Bics
| ;. CMOS Wil
I )
! - 8555 4| > ELcs R3] Je2
: 10K u 1K0 100
i Y 18V
! 02
N
: 1% |
P R9_27 Tm/p) 2532 VR1 v
i —
: al L Uy Vi LK7 8v2
H 4] To;n
v
i .__*x<{_ 403
—
w6 T Swi R8_10R 10p
-5V 5  s— Y%
@ 4y @ VR1
+ 4
0PL1 "R10 | 3
B wil ¢ | R}~
o pLUG
+ SW2 %) RL  PLI2e Swi
ol
o (76 ] I;J ¥ O Ic3 4 G
R 2 R9m RS
~R?__}-
j ~[R2T}-
IL79 ]" --‘

MULTIGRADE 500P exposure probe -~ circuit diagram and component layout

20 Figure 2.6

Section 2



Australla

ILFORD PHOTO [Australia) Pty Ltd
- PO Box 144

Mt Waverley

3149 Victoria

Austria

ILFORD Anitec Ges.m.b.H.
Deutschstrafie 3

A-1232 Wien

Belgium

SA ILFORD PHOTO NV
Avenue des Casernes 39
B-1040 Bruxelles

Canada

ILFORD PHOTO (Canada) Limited
2751 John Street

Markham

Ontario L3R 2Y8

Denmark

ILFORD Anitec Foto Akts
Gadelandet 18
DK-2700 Branshej

France

ILFORD Anitec SA

BP 334

Chemin de la Fouillouse
F-69802 SaintPriest Cédex

Germany

ILFORD PHOTO GmbH
Heinrich-Hertz-Strafle 1
Postfach 10 11 68
D-6072 Dreieich

Holland

ILFORD PHOTO BV
Nieuwenhuizenweg 10
Postbus 1125

NL-2302 BC leiden

Italy

ILFORD Anitec SpA
Origgio {Vo)
Casella Postale 77
21047 Sarenno

Japan

ILFORD Anitec limited

Asami Building, 5th floor

4-7 Minami Shinagawa 2-Chome
Shinagawarku

Tokyo 140

Spain

ILFORD Anitec SA
C/Industric 473

Recinto Cros-Pasaje Nave 1
E-08912 Badalona
Barcelona

Sweden

ILFORD PHOTO AB
PO Box 55066
S400 53 Gateborg

Switxerland
ILFORD Anitec AG/SA
Rue de I'lndustrie 15
CH-1700 Fribourg 5

United Kingdom
ILFORD PHOTO Company
14-22 Tottenham Street
GB-Llondon W1P 0AH

USA

ILFORD PHOTO Corporation
West 70 Century Road

PO Box 288

Paramus

New Jersey 07653

If your country is not shown
here, please centact:
ILFORD Anitec

14-22 Tottenham Street
GB-london W1P OAH

Product names printed in capitals are ILFORD trade

marks

ILFORD Limited Mobberley Cheshire
Printed in England 40256.GB

INTERN/DTONAL () PAPER
MAGING PRODUCTS DVISON



	Approved abbreviations
	Parts list
	Multigrade 500H enlarger head
	Multigrade 500S power supply
	General

	Electrical diagrams
	Multigrade 500H enlarger head - circuit diagram and component layout
	Multigrade 500S power supply - component layout
	Multigrade 500S power supply - circuit diagram
	Multigrade 500CPM control unit - component layout
	Multigrade 500CPM control unit - circuit diagram
	Multigrade 500P exposure probe - circuit diagram and component layout

	Main Menu

